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Roll No. Candidates must write the Code on the

title page of the answer-book.

Please check that this question paper contains 11 printed pages +1 Map.

Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the candidate.

Please check that this question paper contains 32 questions.

Please write down the serial number of the question in the answer-book before
attempting it.

15 minute time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.

b

SOCIAL SCIENCE i
Ehh: %ﬁ.

Time allowed : 3 hours Maximum Marks : 80

General Instructions :

Read the following instructions very carefully and strictly follow them :

@)

(ii)
(iii)

(iv)
(v)

(vi)

(vii)

(viii)

(ix)
(x)

Question paper comprises five sections — A, B, C, D and E. There are 32 questions in the
question paper. All questions are compulsory.

Section A - Questions no. 1 to 16 are objective type questions (MCQs), carrying 1 mark each.

Section B — Questions no. 17 to 22 are short answer type questions, carrying 3 marks each.
Answer to each question should not exceed 80 words.

Section C - Questions no. 23 to 26 are source based questions, carrying 4 marks each.

Section D — Questions no. 27 to 31 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

Section E — Question no. 32 is map based, carrying 5 marks with two parts, 32(a) from
History (2 marks) and 32(b) from Geography (3 marks).

Answers should be brief and to the point; also the above word limit be adhered to as far as
possible.

There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted.

Attach map along with your answer-book.

In addition to this, separate instructions are given with each section and question, wherever
necessary.
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SECTION A (16x1=16)
1. Which one of the following was not included in the ‘Napoleonic Code’ of 1804 ? 1
(A) Privilege based on birth
B) Abolished the feudal system
© Right to property
(D) Equality before law
2. Define the term ‘Liberalism’. 1
3. (a) Which of the following is not a part of the ‘United Kingdom of Great Britain’ ? 1
(A) England
(B) Poland
©) Scotland
(D) Ireland
OR
(b) Who among the following was proclaimed as the ‘German Emperor’ in 1871 ? 1
(A) William I
B) Otto von Bismarck
© Kaiser William
D) Count Cavour
4, Which of the following is not a characteristic of ‘Intensive Subsistence Farming’ ? 1

(A) This is practised in areas of high population.
B) It is an example of labour-intensive farming.

© High doses of biochemical inputs are used.

(D) It is an example of commercial farming.
5. (a) Name any one ‘rabi’ crop. 1
OR
(b) In which ‘cropping season’ are Jowar and Bajra crops grown in India ? 1
6. Which one of the following factors does not affect industrial location ? 1
(A) Raw material
(B) Labour

© Capital
(D) Rainfall
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11.
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Match the following and select the correct option :

Sea Port State
i Kandla 1. West Bengal
ii. Tuticorin 2. Odisha
iii.  Paradwip 3. Tamil Nadu
iv.  Haldia 4. QGujarat

Options :

(A)
(B)
(®)
(D)

G N RO

W W w N

iii iv
3 4
1 4
2 1
1 2

Which of the following is a source of ‘mass communication’ ?

(A) Book

(B) Telephone
(C) Personal letter
(D) Parcel

Fill in the blank :
59 percent of the total population of Belgium lives in the

(a) Which of the following is a subject of the Union List ?

(A)
(B)
©)
(D)

Defence
Agriculture
Trade

Education
OR

(b) Which of the following is a subject of the State List ?

(A)
(B)
©)
(D)

Which one of the following types of government promotes equality among citizens ?

Currency
Foreign Affairs
Banking

Commerce

(A) Democracy
(B) Dictatorship
(@) Autocracy
(D) Aristocracy
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13.

14.

15.

16.

Study the table and answer the question given below :

EDUCATIONAL ACHIEVEMENT OF
RURAL POPULATION OF UTTAR PRADESH

Category Male Female
Literacy rate for rural population 76% 54%
Literacy rate for rural children aged 90% 87%
10 — 14 years

Percentage of rural children aged 10 — 14

attending school 85% 82%

In Uttar Pradesh what percentage of female children (girls) aged 10 — 14 years are not
attending school ?

Which one of the following activities comes under ‘Primary sector’ ?
(A) Mining

(B) Transport

© Education

(D) Storage

(a) The exchange of goods with a commodity is known as :
(A) Double coincidence of wants
(B) Local trade
© Domestic trade
(D) Foreign trade

OR
(b) Which one of the following mediums of exchange is convenient ?
(A) Money
B) Commodity
©) Gold
(D) Silver

Which of the following authorities of India issues currency notes on behalf of the Central
Government ?

(A) The State Bank of India
(B) The Reserve Bank of India
©) The Allahabad Bank

(D) The Punjab National Bank

Which one of the following is a formal source of loan ?
(A) Relatives

(B) Landlord

© Bank

(D) Friend
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17.

18.

19.

20.

21.

22,

23.
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SECTION B (6x3=18)
(a) Describe the spirit of conservatism in European governments brought after the
defeat of Napoleon in 1815. 3
OR
(b) Describe the major outcomes of the French Revolution of 1789. 3
How did the ‘Greek War of Independence’ contribute in mobilizing nationalist feeling
among the educated elite across Europe ? Explain with examples. 3
Why are manufacturing industries considered as the backbone of economic development
of a country ? Explain. 3
How did the Belgium government accommodate the social differences ? Explain with
examples. 3
(a) “Money in your pocket cannot buy all the goods and services that you may need
to live well.” Support the statement with example. 3
OR
(b) “Different persons can have different developmental goals.” Support the
statement with example. 3
How do the workers of organised sector receive the benefit of employment security ?
Explain with examples. 3
SECTION C (4x4=16)

Read the source given below and answer the questions that follow :

In February 1922, Mahatma Gandhi decided to withdraw the
Non-Cooperation Movement. He felt the movement was turning violent in many
places and satyagrahis needed to be properly trained before they would be ready
for mass struggles. Within the Congress, some leaders were by now tired of mass
struggles and wanted to participate in elections to the provincial councils that had
been set up by the Government of India Act of 1919. They felt that it was
important to oppose British policies within the councils, argue for reform and also
demonstrate that these councils were not truly democratic. C.R. Das and Motilal
Nehru formed the Swaraj Party within the Congress to argue for a return to
council politics. But younger leaders like Jawaharlal Nehru and Subhas Chandra
Bose pressed for more radical mass agitation and for full independence.

In such a situation of internal debate and dissension two factors again shaped
Indian politics towards the late 1920s. The first was the effect of the worldwide
economic depression. Agricultural prices began to fall from 1926 and collapsed
after 1930. As the demand for agricultural goods fell and exports declined,
peasants found it difficult to sell their harvests and pay their revenue. By 1930,
the countryside was in turmoil.
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Answer the following MCQs by choosing the most appropriate option :

(23.1) When did the Non-Cooperation — Khilafat Movement begin ?
(A) 1920
B) 1921
© 1922
(D) 1918

(23.2) Why was the countryside in turmoil by 1930 ?
(A) Increased production in agriculture
(B) Distress in countryside
(©) Decreased production in agriculture
(D) Worldwide economic depression

(23.3) Why did Mahatma Gandhi decide to withdraw the Non-Cooperation Movement
in February 1922 ?
(A) Due to Rowlatt Act
B) Due to Simon Commission
©) Due to Jallianwala Bagh Incident
(D) Due to Chauri-Chaura Incident

(23.4) Which leaders of the Congress Party wanted to participate in elections to the
provincial councils ?
(A) Jawaharlal Nehru and Subhas Chandra Bose
(B) C.R. Das and Motilal Nehru
©) Bal Gangadhar Tilak and Bipin Chandra Pal
(D) Thakurdas and G.D. Birla

24, Read the source given below and answer the questions that follow :

L 32/3/1

Mining sites are abandoned after excavation work is complete leaving deep scars
and traces of over-burdening. In states like Jharkhand, Chhattisgarh, Madhya
Pradesh and Odisha, deforestation due to mining have caused severe land
degradation. In states like Gujarat, Rajasthan, Madhya Pradesh and
Maharashtra, overgrazing is one of the main reasons for land degradation. In the
states of Punjab, Haryana, Western Uttar Pradesh, over-irrigation is responsible
for land degradation due to water logging leading to increase in salinity and
alkalinity in the soil. The mineral processing like grinding of limestone for cement
industry and calcite and soapstone for ceramic industry generates huge quantity
of dust in the atmosphere. It retards the process of infiltration of water into the
soil after it settles down on the land. In recent years, industrial effluents as waste
have become a major source of land and water pollution in many parts of the
country.
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Answer the following MCQs by choosing the most appropriate option :

(24.1) In which one of the following states is overgrazing the main reason for ‘land
degradation’ ? 1
(A) Gujarat
(B) Himachal Pradesh
© Punjab
(D) Madhya Pradesh

(24.2) Which one of the following is a major source of water pollution ? 1
(A) Rainfall
(B) Landslide

© Over-irrigation
(D) Industrial waste
(24.3) Why is ‘over-irrigation’ responsible for land degradation ? 1
(A) Increases the salinity of soil
(B) Decreases the water absorption capacity of soil
(©) Increases landslides

(D) Decreases the fertility of soil

(24.4) Which one of the following is the main reason of ‘land degradation’ in
Jharkhand ? 1

(A) Overgrazing

B) Over-irrigation
© Industrial waste
(D) Mining
25. Read the source given below and answer the questions that follow :

Democracies that follow a federal system all over the world tend to have two kinds
of political parties : parties that are present in only one of the federal units and
parties that are present in several or all units of the federation. This is the case in
India as well. There are some countrywide parties, which are called ‘national
parties’. These parties have their units in various states. But by and large all these
units follow the same policies, programmes and strategy that is decided at the

national level.
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Every party in the country has to register with the Election Commission. While the
Commission treats all parties equally, it offers some special facilities to large and
established parties. These parties are given a unique symbol — only the official
candidates of that party can use that election symbol. Parties that get this privilege
and some other special facilities are ‘recognised’ by the Election Commission for
this purpose. That is why these parties are called, ‘recognised political parties’. The
Election Commission has laid down detailed criteria of the proportion of votes and
seats that a party must get in order to be a recognised party. A party that secures
at least 6 percent of the total votes in an election to the Legislative Assembly of a
State and wins at least two seats is recognised as a State party. A party that
secures at least six percent of total votes in Lok Sabha elections or Assembly
elections in four States and wins at least four seats in the Lok Sabha is recognised

as a National party.

Answer the following MCQs by choosing the most appropriate option :

(25.1)

(25.2)

(25.3)

(25.4)

| 32/3/1

Which one of the following is a National party ?
(A) Bharatiya Janata Party

(B) Samajwadi Party

© Shiv Sena

(D) Shiromani Akali Dal

Which of the following is not a regional party ?
(A) Jharkhand Mukti Morcha

(B) Asom Gana Parishad

© Indian National Congress

(D) Dravida Munnetra Kazhagam

Where does every political party have to register in India ?
(A) Government of India

(B) NITI Aayog

© Election Commission

(D) Law Commisssion

When a party that secures at least six percent of total votes in Lok Sabha
elections or Assembly elections in four states and wins at least four seats of Lok
Sabha, it is recognised as a :

(A) Regional Party
B) National Party
© Pressure Group

(D) Business Organisation
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26. Read the source given below and answer the questions that follow :

We have seen that the liberalisation of foreign trade and investment in India was
supported by some very powerful international organisations. These
organisations say that all barriers to foreign trade and investment are harmful.
There should be no barriers. Trade between countries should be ‘free’. All
countries in the world should liberalise their policies.

World Trade Organisation (WTO) is one such organisation whose aim is to
liberalise international trade. Started at the initiative of the developed countries,
WTO establishes rules regarding international trade, and sees that these rules
are obeyed. 149 countries of the world are currently members of the WTO (2006).

Though WTO is supposed to allow free trade for all, in practice, it is seen that the
developed countries have unfairly retained trade barriers. On the other hand,
WTO rules have forced the developing countries to remove trade barriers. An
example of this is the current debate on trade in agricultural products.

Answer the following MCQs by choosing the most appropriate option :

(26.1)

(26.2)

(26.3)

(26.4)

3231

Which among the following organisations establishes the rules regarding
international trade ?

(A) WHO

(B) WTO

(©) UPU

(D) IMF

Which of the following is the aim of World Trade Organisation ?
(A) To liberalise international trade

(B) To provide loans to the developing countries

© To help countries economically

(D) To resolve the political disputes between countries

Which one of the following options defines ‘Liberalisation’ ?

(A) Impose the tax on economic activities

B) To set barriers by the government in the economic field
©) To remove barriers set by the government

(D) Self-control on all economic activities

Who among the following had initiated to start the World Trade Organization
(WTO) ?

(A) European Union

(B) Non-Aligned countries
(©) Developing countries
(D) Developed countries
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SECTION D (5x5=25)
(a) Describe the economic impact of the First World War on India. 5
OR
(b) Describe any two Satyagraha movements launched by Gandhiji just after his
return to India from South Africa. 5
“Under globalisation particularly after 1990, the farmers in India have been exposed to
new challenges.” Support the statement. 5
“Federalism is a system of government in which the power is divided between a central
authority and various constituent units of the country.” Support the statement in
reference to India. 5
(a) How does democracy produce a harmonious social life ? Explain. 5
OR
(b) How does democracy protect the dignity and freedom of citizens ? Explain. 5
(a) “The use of money spans a very large part of our everyday life.” Support the
statement. 5
OR
(b) “Credit pushes the borrower into situations from which recovery is very painful.”
Support the statement. 5
SECTION E
(Map Skill-based question) (2+3=5)
(a) Two places ‘A’ and ‘B’ are marked on the given political outline map of India (on
page 12). Identify these features with the help of the following information and
write their correct names on the lines drawn near them : 2x1=2
(A) The place where the Indian National Congress Session was held.
B) The place where the Jallianwala Bagh incident occurred.
(b) Locate and label any three of the following with appropriate symbols on the same
given political outline map of India : 3x1=3
) Tarapur — Nuclear Power Plant

(i) Indore — Cotton Textile Industry
(iii) Salem — Iron and Steel Plant

(iv) Noida — Software Technology Park
(v) Kolkata — International Airport

L 32/3/1 Page 10 of 24
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Note : The following questions are for the Visually Impaired Candidates only, in lieu of
Q. No. 32. Attempt any five questions : 5x1=5

(32.1)
(32.2)

(32.3)
(32.4)
(32.5)
(32.6)
(32.7)

Name the State where the Jallianwala Bagh incident occurred.

Name the State where the Session of the Indian National Congress was held in
December 1920.

Name the State where the Tarapur Nuclear Power Plant is located.

Name the State where the Indore Cotton Textile Industrial Centre is located.
Name the State where the Salem Iron and Steel Plant is located.

Name the State where Noida Software Technology Park is located.

Name the State where Kolkata International Airport is located.
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For question no. 32
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Series ¥2JLZ2/C =i 32/3/1
: Thenef ®ig H IW-YEdw & qE@-I8
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o FHHAT AN F A foh 30 TA-F H qlad Y8 11 + 1 HERA § |
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IR-YFETRT W HE I TE fa@T |
-E'.%E'% AT fasm il
Ehh: %ﬁ{
FRefRa a7 : 3 g2 ST 37% : 80
T 3397 :

AT 14591 %1 Sga raer] & 9T S 371 G&d! & T BT

@)

(i)

(iii)

(iv)
(v)
(vi)
(vit)

(viii)

(ix)
(x)

J97-97 gie @S] 7 3975 31 77 8 — &, @, W, 7 N F | 39 J97-97 § y¥ & e 32 F |
Tyt go7 e & |
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Tue 7§ 397 G 27 @ 31 7% JH-3T YFR & 97 8, Ied% Y97 5 3F F1 & | Fedb 97 BT
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TUE & (16x1=16)
1. 1804 1 Furferee wfgar # frfafiaa § 9 ferment wnfier 757 fomam mm on 2 1
(A IH 9 Al faRmTfieRr
(B) I SIIEAT ] GHICT BT
(©)  TuR o1 fererr
(D) I % THE SO
2. TeraTe’ wee 1 gRHTg HifT | 1
3. (a) frfafaa # @ wF-T1 Fases fhen o1fe U2 faea’ @1 o 757 7 2 1
A TS
(B) Ui
(C)  THICAS
(D) AT
Sterat
(b) feafafiga 9 @ frm 1871 7 5= wwre” =nfva feman mam 2 1
QA  Tofeam gem
(B) 3ier 919 forereh
(C) =R faferm
(D)  FRE FE
4. Frfafad § @ SE-8 T o S 6 forivar 787 2 ? 1

(A) I8 3fep SHEET 9t &5 § i ST @
(B)  UE #M-Te FHi¥ I I 7 |

(©)  =HH Iferes 9En # A9-TErERT 1 T=T foRar ST @ |
(D) g AMIfSIeh HY HT TH I 7 |

5. (a) i 6t foreht ueh wae w1 A AR | 1
arerat
(b) ~ ¥RG § SIR I I h BES {hE T R H IS I @ ? 1
6. fafafaa 9 @ -1 e i safeafa = ywifad = aren wreE 787 2 2 1
(A)  H=I A
B)  Fft®
© oSl
(D) 9wt

| 32/3/1 Page 14 of 24



*"g%‘@
FA 0]

10.

11.

freferfad 1 g i s w8 feed 9RT -

gz g T
i el 1. ufeaw s
ii. qeepIid 2. effesm
iii. IREH 3. dfeETg
iv. Ble 4 TTSId
Torepea

1 11 111 v

@a 1 2 3 4
(B) 2 3 1 4
© 4 3 2 1
(D) 4 3 1 2

fafafga 7 @ - SHE=T %1 T gieF ® 2

@A)  frae
(B) TN
©) T
D) U
ek Torm 1 gfid shifre
Sfeam 6 Fot e F 59 Ffwra fawm ESIER IR
(@  fmfafed & @ F9-a g9 = w1 fawz 2 2
(A) T
B)  FW
(C) =UR
(D)  foem
AYAT
by ffafed & @ #9-m o7 g= w1 fawm R 2
(A) Hal
®) ool ame
(C) &
(D) @

foafaftaa 9 9 forg oA sgaEen § AFTiERT | ST o1 derET et § 2
(A)  rhad

(B) GIEINIE
() Tehddl
(D)  HolFadA
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12.  difeteRt sl STegaa HifSe qen = feu e e o5 3w fofia . 1
T TSV <kl UATHIOT SEEAT <kt iferes Suertey
Srufy qey wfgen
TrefiuT ST T GIeEAT & 76% 54%
10 — 14 99 1 7Y  TTH =1 H AT & 90% 87%
10 — 14 99 I 3TY & ol AW At JTET
ECICa RGN 85% 82%
IR YT H 10 § 14 9 1 31y h1 fopat wfcrera afgand (eTsferar) wpat 781 51 @ & 2
13. Tm=fofga @ @ F-ur fhamram ‘Tufies & % Fdia A1 8 2 1
A @
(B) qitagd
© Tt
(D)  HUERYW
14. (a) 9% % 9gol 9% & fafm =i *ed B - 1

(A) STITIFRATS T 38T FIMT
(B) TR SR

(C) =g JMUR
(D)  foesft =R
arera
(b)  frafafea & @ fafma &1 Se-ar e giaasas 8 2 1
(A) qal
B) 9%]
(C) =
(D)  =id@
15.  9Rd o FF=fafea § @ S9-a1 it g 9RO d B! Tie SIH AT ® 2 1

(A)  URAE R S
(B) R fod S
(C) IARERE S
(D) U9 A S

16. Tm=feflgd ¥ @ F=-w1 o1 =1 fo=ies |a 8 2 1
(A foder
B) Tl
(C) &%
(D) =
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LCLERC] (6x3=18)

(@) 1815 H Ui <l BR o o1¢ JUNT R § 318 FgaTe! WG 1 JuH hHIfAT | 3
rerE

(b) 1789 1 e shifd o Jg@ gRommi 1 o hifT | 3
It waAa wu | foRE YRR W o Tifea sifvema ot § Usgardt wieH % "eR 6 aneH
feam 2 gTewon wfga Tuse iU | 3
fafrmfor sz fereht <o & anfdier s <1 {1 wwE S 3 2 Tse Aifvw | 3
Sfesrem TR 3 amTie fsarst &1 amee fha yer R 2 Serewon afgd Tse hifv | 3

(@) N9 ¥ @1 w9 99 9EqU U9 HaN Glied § 9eW Tél 91 S Fehal, ekl STaeh! T

IEHR A o 0 STawehdT 81 Wehd! 8 |7 39 A i I Afga gfse HIT | 3

(b) “W-Wﬁﬁ%ﬁm@%ﬁa;gémﬁﬁ’sﬂmmﬁwa&agﬁ%
i | 3
TfSA &efeh % HA=TET <l USHT L& & o Ha firerd 8 2 Sergwi afga wse Aifs | 3
gue T (4x4=16)

= fag e & 1 dfen 3 3ges A= g Tu gl & I fafe

HE 1922 H T et I STHEANT NG ITIH T 1 HEel H o | SR T o
fop aridier féae a1 o1 @1 2 SN geamfeEt i saeh qie i WEE 2 | BIE & FO
A1 3 T S THEEN ¥k goh o | 1919 % TGAHE 3T 3fem wae & dra nfed H M
Wit TRYGT o I H e o1 =Ed 9 | 3Rt eran ot fob aftegi # wd g feifewr fife
w1 fotig 1, Ui 61 Fehterad i1 IR I8 fo@mn ft gewqul 7 fob 3 9isg Arepaiteh
e TEl 2 | LR, g 3R HidiaTa A8€ | uftyg Toifd # aag wited & faw s %
ff & TSt UTel 1 TS L STAT | T AgE TR G =g S S8 JaT a1 $3e
3 TG 3R U T o foT gare S g 9 |

ATaish 580 9 TEeAd & 30 AR § 4 W o 9 T2 g % e % onfed aret A
AR Tifd sl @1 T o) R 9ga 4 | uge SRe o fovaemdt nfede 7t @
ITEX | 1926 T FY Icural ht Hmd A @l off 3R 1930 % a1g a1 @ @ wemh 7
$ | B Searel i win i frata w9 o @ fhaEt w s 3us s 3R e
FepMT Ht Wi T @ | 1930 T TTHIUT 3T WY IUA-9USA T TERA N |
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waifed foehed e fmfefga sgfasmedta sei & 3 e

(23.1)  srHEAN - Raewa e 1 YEAT H g8 ?
(A) 1920
(B) 1921
©) 1922
(D) 1918

(23.2) 1930 % UTHIUT 3cATeh AT IYA-GAA & AT oA ol & ?
(A)  HY 3ee & g
(B) T SR H Hhe
(C) Y Ieured & =t
(D) fovasardt anfees wet

(23.3) WGl 1922 § HETeHT e ¥ STEEA QITH aT9H T HT HEAT Fl fohaT ?
(A) TR T & H
(B) HTSHA FHHIYH % HROT
(C) SAfTATaTAT ST T2 & HROT
(D) =RI-=RT Sl T % HR

(23.4)  HIE I & HH-T T e IRwET o g § T 9 e o 2
(A) AT T8E IR U =g 919
(B) #.3R. g 3R widiera JT&&
(C) o1t MmeR foeres TR faftm =g uret
(D) 3P IR 2. fogan

24, = fau o e @ afeu it 3ues fi= fow o vl % 3w fafaw
T % I WEHI dTel TAHT 1 el @Tgal 3R Aats & oy gell 31 fean Jmar 2 |
T % AU AREUE, JTAIEE, T Tew 3 I Y TSl § S -eH qiH e
T HRO S 7 | o, TSEIH, He Ue¥ 3R Werreg # Afd-a9=m g e &
& HROT g | USATE, GO 3R qfvet IO vew S Usal # oifyes g g frefieo
% foTu STRerft 2 | A1fa faem @ oo Stamseiaar ff g frefeo & foe sawere & e
T § FaviiEad R aiEd 96 It 2 | @S Sihard S Hite T § ST qeer i
et 3R 7a1 59 3um ¥ 0 (e qa7) R der@el % YA ¥ §ga oAt wnen
qgHSA H go foiid il 7 | 99 SOl WA H W W S @ ga1 A arad 6l
ufshan sra%g & STl 7 | o oo vt @ w < fafie a6 it Sto feee @ e
3 e STafree wgref i 3 e Ygu0 1 §&F 44 2 |
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B
2
fal
o

el AR TR Sgfaehedta SRl & I T

(24.1) frafaRas usat & & frad sifa-ayemo f e’ o g He R 2

(A)
(B)
©)
(D)

TS
feurerel wew
EEIC]

e Yeu

(24.2) FAIRIT | | -9 I TGIU H THE FA 7§ ?

(A)
(B)
©
(D)

aut

Y-Eeo

afa fi=m
e STafRre

(24.3) ‘wifa &= ofe freferor & fore = seRerf 7 2

(A)
(B)
©)
(D)

9 a7 § Aavidt §g St @
a1 1 T HiE HI ST HH A A 2

(24.4) oT@EUE TSY H “fff Fr=fiertor’ o1 T@ SR HH-31 7 ?

A)
(B)
(©)
D)

AT -TSEmT
afe fammg
Ifrenfies erafime
T

25. = feu U g9 1 ufen 3R 3Eeh = feu U ywEi % S forfew
foea & THiT yawAT I ARddl § 3 W@ o TSHIdh el & : Ge¥ seheal § ¥ fak
TS § AT W@ 91 e 3 3 1 G hi Gt Sehsdl § AfEdcd e 91 @ |

a4 off 7@t feafa @ | 68 wifear o | Shefl g8 2 9T 3w Ui uiel et I § | §H
zelt <1 fafirer Tl # geprgAl € | W Pt e <@ |1 3 9 sl U T W 9

B areft fifart, iRt 3R wHifaal ot € 7 @ |

3231
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<9 6T B U Bl AT SR H ST GSfiehiol HUAT USdT 7 | TR |t gl Sl gHeE
AT 3 T T8 oS AR T gedt h po famw gload 2a1 2 | 3% sterm A fug fen
e & foreeht s ardf 1 sifrepa sefigar & = wehdT 7 | 59 foRiwifieR otk 3w o
A I Felt 91T Sl T UTed g had @ | g TR 5 wse fRw §amw € foh g
zd fohad ufdwr ae 3R die Sfiast W=ran Ied’ g S99 Tehdl B | I I3 U1 T
faurayT & gAE § 92 Ha Tdl 1 6 HIEE AT 398 AT FIAA Ll 7 3 FH-T-HT
a1 il W Sfid g hEdl § a IH AU TSI o TSIk gd o &9 H AT=ar e ol 2 |
IR hIg G AT I H TS Pl dlc 1 MG IR AT o [IgHa9RE gE ° 08
el At ol 6 TTARId BT hdl & 3N TAREN] oh TATd § HH-H-H7 IR el W Sfd gt
AT B 1 IW TS gt h1 wrrar frerdt R |

waifad foahed ge Fefafea sgfomeda Tel o 3T 4T :

(25.1) fT=fafge § @ sF-w T A R 2
(A) AR ST arel
(B) wHSEmE! qret
() R@ &
(D) TrRmfn sl g

(25.2) Tm=fafaa 8 @ wF-wn & ga 787 2 2
(A) FEve g drEt
(B) 1H T giwg
(C) WNdE T ™
(D) gforg g g™

(25.3)  9Ra H @t TSI AT I Hal TSR] HUAT TSl @ ?
(A) YRd &R
(B) fifa s
(C) T M
(D) fafa smm

(25.4) 9 I3 g A YT YA H US F IS Bl AYAT IR TSA b TG T91 gAET §
U FA el HT FA-H-HT 6 UfTd BIES HT 8 3T Aleh AT hl HH-T-HA TR A
T STl 25l LT 2, 36 gel i A e @
A) &
(B) U@ T
(C) 7o ug
(D) SAFETR T
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26. = feu U GG w1 gfew 3t 3 fi= feu T ywEt & s fafau

T W1 foh H© 95 IWTERITE! SIS TS WRa # foew =R we faesft e
IR 1 T TR | 34 Tl 1 HIAT B Toh Ty samum et foesht few ww o
TGS FIHLH & | I3 g gl a1 MG | <1 o o= Jeh ATR g1 A1 |
farga & @ft 2t =t o Aifeat ser s = e |

v AR TeA (Sse, A.3M.) Th UHT TS 7, 81 24 ST-isdia SR &l 3TN
T 7 | foeefia gui < vgd W yE R T fava AR Wi oS SR |
gafta et s Fytfa @ 8 o 38 T@ar & f 59 i <1 9o 81 | ad9e 8 faga
% 149 < fova SR TS (2006) & T F |

Ty v saw e weft 2 1 gk AR Y gl a1 8, wg sweer § 9% @
T ® R forepfea a9 3 i @ @ SR SYediuehl Y SRR Wl 7 | gl IR, fava
SR T34 o w3 foemsfiar oo & =R eyl # geH & fore foem fomam 7
THHT T ITTEWN HiY IcAEl o AR T Iq0H 569 ¢ |

watfea faepeq gae frfafad sgfomeda St & I 4T

(26.1)

(26.2)

(26.3)

(26.4)

3231

Frafafa & @ wF-a1 T1e AaisdT =R & gefua fmt s e s R 2
(A) T =3 (WHO)

(B) &&g.d.31. (WTO)

(C) 9.3, (UPL)

(D) TE.TH.US. (IMF)

Frafefaa o @ wH-a1 fova =R w@1ed #5137 ?

(A) ARSI AR BT IER TET

(B) foerrasfier 2am I O IgM HET

(C) <=m < oTfdes 9 @ Heg HE

(D) 2 % s qerifaes faamel 1 fuemn

Freafafad fasedt § @ SF-a1 SRt ot gRaTfyd e 2 2

(A)  omfdes TTfafafert X st ST

(B) WK gRI 3Tffeh & | rarell i o i ufshan

(C) TR gRI UL I 5 hI Tishar

(D) @t anfdes wfafafert i emam Fesor § @@

Frefafaa & @ forosh! Tea W fova =R @meq (Sseg.d.e0.) 3% fora o 2

(A FOfEE gfa
(B) Tefa om
(C) foemmasfiia aw
(D) foerfea om
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wUE Y (5x5=25)
27.  (a) YNGR YW fova Ig & oM gTEl 1 vl I | 5
arera
(b)  gfegur ITHIHT ¥ UNA e < qed a1 &t st gra fopn o fopegl @1 dcemrg STciei
1 U HIT | 5
28.  “foRIv ¥ A 1990 % w1 VAR % i, WA b fRAMI Rl hS A FAGET B AT HEAT
ug @I & |7 %ed H gite AIfve | 5
29. “uefly wHA SyaEen § wate T hgd WfUehR 3 Iwehl fafte orwifies seRrgai % ofiw ofe
STt B 17 9Ra % wed # 38 S H gfte Fif | 5
30. (a)  Arhad foRT YRR HEWTEUl HTHTRNTh SaH 3Ucied ST 8 ? T8¢ hIRT | 5
arerat
(b)  Wrehad H fopm TR ATTRERT Y TRET 3T SIS <t FRaw et B ? Tase hIfAT | 5
31. (2  “9X1 1 U@ gER UM % Sied 1 T 9gd S99l e 8 |7 38w H g
IR | 5
areran
(b)  “FW FHuer H W oRfeafr § ke g1 B Wl ¥ STe ket 950 FegE® B
21”7 38 e i gfte Hifv | 5
WUE ®
(wrafers shterer-anaTiia we) (2+3=5)
32. (a T T A’ 3R B’ U T wRa % TSHiToe W@-AEEE (I8 24 W), # Sfhad fRw Mg
7 | 39 @gn l FAfafied SRR 6 TEREd | Ige 3 3 TEl AW 36 e
it TE et W fafa 2x1=2
(A) T8 TIM 8 AR TR S HI ST 5 |
(B) 98 TIM W&l Sfertarett & &Y weAn =fed g8 |
(b)  3E fu MU wRE % ToHifoe Ten-AmtE | frefatea § @ et @7 5 suge e @
TIITEY 3 3k AW fAfe : 3x1=3
(i) TR — AR Hofl G
(i) 34X — Hot o AW
(il) HAH — AR T Q@ G
(iv) TSN — TR SIS UTeh
(v) ohIcTehIdT — ST=RIST a1y U
32/3/1 Page 22 of 24



S i
7z fAeferfaga sv7 @ae gizaTiaT ghemafat & o7g 397 &1 32 & T W & | fahegt aier ye7)
% I foifem : 5x1=5
(32.1) 38 TA o AW fafaw S&f Sfeataren sm wet wfed 8 |

(32.2)
(32.3)
(32.4)
(32.5)
(32.6)

(32.7)

3231

39 =T 1 W faRae T foamsr 1920 § IRA T iid i SAREwH g3t o |
39 T3 1 A fafaw gt araqe shfvges St w9 fedra 7 o

34 T w1 AW Tafeaw &t 3 et a5 i g feoa 7 |

39 TS 1 AW ffau STef de wiigt v gedra |9 e @

3 U9 1 AW fafee fem e diress st aeh ferd 2 |

39 T 1 T fAfau ST wierehrar SFausde arg ue fed B |

Page 23 of 24 P.T.O.



@%%
I
E ¥

et v (i)

il

SN, o
N oo e O A

Page 24 of 24

L 32/3/1




